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B.Com. (Part-III) 

lerm End Examination, March-April, 2022 

Compulsory 
Group I 

Paper I 

Income Tax 

[Maximum Marks : 75 

[Minimum Pass Marks : 25 
Time Three Hours] 

T 

Note Answer all questions. All questions carry equal 

marks. 

30613/Unit-I 

1. 477 yT8% UA TAT TT5 15 

3TA, 
4T ET T4T Y 1 HT, 2021 3T 
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(2) 
(3) 

(0 
7977 7 A 37 1,60,000 (Tu 

) (ix) 47Ta HITÀ 5 À AT4 7 20,000 (ix) 

(x) 4Tdta ui ÀT4TT7 5,000 
(x) 

(i1) T 

qTr 77 18,5001 
(xi') 4Ttaa Ff T 7 12,0001 

(H) 7 18,000 TYI A IA fTI Bharat Pathak is an Indian citizen. He went 

out of India on 15th August, 2020 for a 

service in a company in Japan and come back 

to India on Ist March, 2021 to meet his 

family. During the previous year his details 

of receipts were as follows 

CTHTT 

(v 
(i) Income from salary in Japan F 1,60,000 

(computed). 
T 13,500 1 

(vi)9T 1 T T9,200 (i) Taxable income from house property in 

Rajasthan 7 18,500. 

(iii) Interest on debenture of an Indian 

company 
received in Japan7 18,000 

(Gross). (vii) eTA TTR À AT (a) 1 3A, 

2020 31 TT, 2020 hl 

48,000, (b) 1 3T, 2020 31 HI, 
2021 7 60,000 

(iv) Dividend on shares of foreign company 

7 7,500 received in Japan. 

(V) Agricultural land income situated in 

Rajasthan 7 13,500. 

(vi) Interest received from a firm in Japan, 

7 10,0001 remitted to India 7 9,200. 
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(4) 

business Rajasthan 
(5) 

in 

(a) from 1st, April, 
2020 to 31st July, 

2020 48,000 (b) from Ist August. 
(i') 

Income from 
business 

in Rajasthe 

2020 to 31st March, 2021 F 60,000. TUTT 31-3T ifI 

Simbhawali Sugar Mill used 30000 quintal of 

Sugarcane last year out of which 6000 quintal 

of sugarcane was grown at their own farm at 

a cost of 7 6,00,000. Balance was purchased 

at following rates: 

(vin) Payment 
received from Public Provident 

Fund F 10,000. 

(ir) Income from Indian partnership firm 

F 20,000. 
10000 quintal @600 per quintal 

(r) Dividend from Indian company 5,000 

(Gross). 6000 quintal @ 800 per quintal 

(xi) Indian Agricultural income F 12,000. 8000 quintal @T1,050 per quintal 

Determine his Residential status and Gross 
The mill earned a total profit of 7 60,00,000 

last year. Calculate agricultural income and 

non-agricultural income separately. 
Total Income. 

3rraTOR 

30000 faea C6T/Unit-II 

TA fYaT 5I H À 6000 faea 7A 2. I 

1 19R, 2012 7 36,000-1,000-44,000- 

2,000-60,000 is f4cat &i 3 

f 20% HEIT 4T TR 7 10,000 ta HTE H6 

10000 f 7 600 fa fadza 

6000 fz 800 ufa faae 

8000 faa 
yfa ffu 7 aa1 3T HETS 1 17% 

71,050 ufa faaza 
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(6) 
(7) 

are incurred by the employer. He has the 

amenity of free electric and water from 

3HTT 3-7 fA 3va7 factory costs 7 4.000. He has been provided 
Gas and Telephone, the Bills of which 7 1,200 

and 2,000 respectively have been paid by 

the employer. 

Compute his Income from Salary for the 

Assessment Year 2021-22. 

3reaT OR 

gio tqu see AT, 2010 T1 

fer a 2021-22 f FIa fsI 
80,000 aTT , Tafs fRTAT yA 

Shri Kali Charan Sharma is employed in 
37ffTry 3-7a 4T-6 fTAT790,000 

Mumbai. He is in the grade of 36,000- 

1,000-44,000-2,000-60,000 since lst January, 
2012. He is paid 20% of salary as Dearnesss 3447 3HTT: 

Allowance and 10,000 per month as House 

Rent Allowance. He has hired accommodation 
(a) 25% TT Fa 34477 

(b) 25% 4TT T 
on a monthly rent of 13,000. He contributes 
17% of his salary and Dearness Allowance to 

the Recognised Provident Fund towards whicn 
the employer contributes an equal amount. He 
nas been given a small car which is used by 
him for his personal purposes also. All no 

CXpenses relating to the official use of the ca' 

(c) 25% 4T7 RETTYT 3Y4 fIu À 

(7 2,000 ta HIE) 

(d) 25% 4TT Y6 aHiTY6 hH fTr 

(7 2,000 sta TE) 
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(9) 
(8) 

(a) 25% portion for self residence 

(b) 25% portion for self office 

(c) 25% portion let out for residential 

() TRTtT TH 7 12,800 (7Taat 
purpose ( 2,000 p.m.) 

2019-20 
(d) 25% portion let out to commercial firm 

2,000 p.m.) T9,000); 
(ii) HRA T 4,500 

Other particulars of the house property are as 

(i) fTT76,800 follows 

(iv) aTft YR f 31 fuam THa 
(i) Municipal Corporation tax 12,800 

(actual payment during the Previous Year 

74,0001 2019-20 7 9,000); 

(v) 3f a4 44 7 2,001 
(i) Repairs 4,500. 

(vi) Tr 4T &7 7 1,5001 
(ii) Ground rent6,800; 

(iv) Annual charge 7 4,000 (created by will1 
by his father); 

fer1 fH THC j *a T 24,00o 
T fH T 20,0001 1 TI (V) Fire insurance premium 7 2,000; 

5-uT a 2021-22 fr T51-af (vi) Rent collection charges71,500. 

He has taken a loan from housing board to 

Dr. Piyush Trivedi constructed a big house in 

July, 2010, municipal valuation of which is 
T 80,000 per annum, while its standard rent 

construct the house @ 12% per annum of 7 2 

lakh. Interest was due 7 24,000 during the 

previous year. Out of which 7 20,000 was 

paid. under the Rent Control Act is 7 90,000 per 
annum. The house was used in the following
manner during the previous year 

Compute income from house property for the 
Assessment Year 2021-22. 
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(10) (11) 

3HT/Unit-Il1 

3TTR THI -fAatru ad 2021-22 

Tta ak 7 800); (in) TEi âoato 
TThR ( }ioato fa tz 7 4,500); 
(ii) 3T7t/4ATE 7 3,000; (iv) u ziT 

1,00,000HHA TY 5,96,260 HHTCR-T fT 

faT 45,500 f 1 fTI 48,000 (b) 747 1 7154T| 

(c)34TTE 4 À F6,000 f4 
fyH fa 2019-20 3T767 31ferTÁ 

92,500 HTYR aTYHT 3,000 

8,600| 37Ty F T4T| 7,800 

(d) Htzr TA 7 1,00,000& 4 TR 

Fapa zH15% aT| 
3,400| 

30,000 

HTe-TT On the basis of Trading and P. & L. Account 

of Mr. Harish, calculate his income from 

business for the A ssessment Year 2021-22 

13,000 

1,000 

18,500 

21,000 
Salary 

1,00,000 Gross Profit 5,96,260 
12,000 45,500 Rent of Property 48,000 

Advertising 
2,500 3,000 

Office Expenses| 92,500| Refund of Income tax 

Bad Debts Recovery 

8,600 

7,800 3,000 Insurance Exp. 

(Goods) 3,04,060| 
Fire Insurance 

6,55,060 6,55,060 Premium (H.P.)| 3,400 

(Turn Over) 
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(12) (13) 

ttà ai 2020-21 Ffai zii a 
51 farerru feqT 

Life Insurance 

Premium 30,000 TE 
Depreciation on 

fa 7 14,00,000 36,48,000 10,00,000 Motor 13,000 

fa 
yTf TA 2,58,000 4,52,0002,00,000 

Tax Provision 1.000 48,000 fAi 
Entertainment Exp. 18,500 
Cost of Patent 21.000 

Motor Exp. Hfa 1 a 2007-08 2004-05 2001-02 12.000 

2,500 

3.000 
3,04.060 

Bad Debts 
eitt 1.1.2021 v5 H6 7 40 TG 

General Exp. 

Net Profit 

6,55.060 6,55,060 ATA P T5i5: 2001-02 100, 2004-05 

113, 2007-08 129, 2020-21 301 
Other information: 

Shri Dheeraj submits the following particulars 

about the sale of assets during the year 2020-21 (a) Advertising includes: (i) Goods presented 
to customers (30 articles T 800 each); 

(ii) T.V. Prizes to Customers (two T.V. 

7 4,500 per set); (ii) Diaries/Calendars 

73,000; (iv) Balance amount Newspaper 

Jewellery Land Gold 

Selling Price 7 14,00,000 36,48,000 7 10,00,000 

Nil T48,000 Nil 
Selling Expenses 

Advertisement. 2,00,000 

Cost of Acquisition 2,58,00074,52,000 
(b) Salary paid to one employee. 

2001-02 2004-05 2007-08 Acquired in the year 

(c) Recovery of Bad Debts includes 7 6,000 
which was not accepted by I.T.O. for 

deduction in 2019-20 
Dheeraj has purchased a house for 7 40 lakh 

on 1.1.2021. Calculate the amount of taxable 

(d) Cost of motor is 7 1,00,000 on which capital gains 

Cost inflation index 2001-02 100, 2004-05 

113, 2007-08 129, 2020-21 301 
depreciation allowed @ 15% p.a. 
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(14) (15) 

31/Unit-IV 

4. 

Explain the provisions regarding set-off losses 
while computing the total income.

-futro a 2021-22 fr IHT FT 

hT/Unit-V 

() 20,000 5. 

30,000 

6,31,000 f ETAI Y 3T ? 

(iv) izi à T (HA) 1,00,000 What is meant by the expression Best 

Judgement Assessment'? Under what 
10,000 

circumstances this method of assessment is 

From the following particulars of an individual 

calculate his total income and net tax liability 
for the Assessment Year 2021-22 

adopted? Are there any remedies open to the 

assessee against such assessment ? 

3r9TODR 

() Rent from let out properties T 374T faTiTa ad 2020-21 7 60,000 
20,000 

(i) Long-term capital gains 
(computed) 30,000 

(iii) Profit from own business 6,31,000 9,000 
15.6.2020 

(iv) Income from lottery (Gross) 1,00,000 19,000 
15.9.2020 

(v) Net Agricultural income 10,000 12,000 
15.12.2020 

20,000 
37TOR 15.3.2021 
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(16) 

34qim TRI 234C 37-ia T 

Shri Aayansh has to pay 7 60,000 as advance 

tax during the Financial Year 2021-22. He 

deposited the following amounts: 

15.6.2020 9,000 

15.9.20200 19,000 

15.12.2020 12,000 

15.3.2021 20,000 

Is he liable to pay any interest U/S 234C? If 
yes, determine the amount of interest payable. 
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